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QUESTION 1

You configured a GRE tunnel that traverses a path using default MTU settings. You want to ensure that packets are not
dropped of fragmented.

In this scenario, what is the maximum packet size that would traverse the GRE tunnel?
A. 1500
B. 1400
C. 1524
D. 1476

Correct Answer: D

QUESTION 2

Which statement is true when using LAGs with an EX43007?
A. Speeds on member links can differ.

B. Member links must be contiguous.

C. Half duplex is supported on the LAG.

D. You can have up to 16 member links per LAG.

Correct Answer: D

QUESTION 3

What are two interarea OSPF LSA types? (Choose two.)
A. Type 1 router LSAs

B. Type 3 summary LSAs

C. Type 4 ASBR summary LSAs

D. Type 2 network LSAs

Correct Answer: BC

QUESTION 4

Click the Exhibit button.
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Nov 3 15:39:56.3B8955 SPF post spf cleanup finished

Nov 3 15:39:56.3B8959 Cleanup elapsed time 0.000064s

Nov 3 15:39:56.388965 Total elapsed time 0.003092s

Nov 3 15:39:56.388967 Finished full SPF refresh for topology default

Mov 3 15:39:56.3889469 task_job_delete: delete background job Route recalc

timer for task OSPF

Now 3 15:39:56.3B8971 background dispatch completed job Route recale timer
for task O3PF

Novr 3 15:40:02.900115 taak_process eventa: recv ready for O3PF
I/0./wvaxr/run/ppmd control

Now 3 15:40:02.900227 task process_events: recv ready for OSPF
I/0./vax/xun/ppmd control

Nov 3 15:40:02.500242 task_timer uset: timer OSPEF
1/0./var/run/ppmd_control PPFM Hold <Touched> set to offset 2:00 at 15:42:02
Nov 3 15:40:02.900244 OSPF packet ignored: area mismatch (0.0.0.1) from
192.168.150.254 on intf ge—0/0/1.0 area 1.0.0.0

Nowv 3 15:40:02.900246 OSPF rcvd Hello 152.168.150.254 -> 224.0.0.5 (ge-
0/0/1.0 IFL 72 area 1.0.0.0)

Nov 3 15:40:02.900344 Version 2, length 44, ID 10.254.254.254, area 0.0.0.1
Now 3 15:40:02.900346 checksum (x8a7a, authtyp= 0

Nov 3 15:40:02.900348 mask 255.255.255.0, hello_ivl 10, opts 0x12, pzrio 128
Nowv 3 15:40:02.500350 dead ivl 40, DR 152.168.150.254, BDR 0.0.0.0

Nov 3 15:40:02.900374 task timer uset: timer OSPF_internal timer <Touched>
set to offset S5 at 15:40:07

Nov 3 15:40:04.2235141 task_procesas_events: recv ready for OSPF

I/0./vaz/zrun/ppmd control
NMow 2 15:40:04_.2252%83 task_chcess_eventsz recv ready for OSEF

I/0./var/run/ppmd control

Nov 3 15:40:04.225350 task timer uset: timer OSPF
I/0./var/zun/ppmd contzol PPM Hold <Touched> set to offset 2:00 at 15:42:04
Nov 3 15:40:04.225352 OSPF periodic xmit from 152.168.150.253 to 224.0.0.5
(IFL 72 area 1.0.0.0)

Nov 3 15:40:06.025582 task_process events: recv ready for OSPF
I/0./var/zun/ppmd_control

Nov 3 15:40:06.025685 task_process_events: recv ready for OSFF
I/0./var/run/ppmd control

Nov 3 15:40:06.025713 task_timer_uset: timer OSPF
I/0./var/run/ppmd control FPFM Hold <Touched> set to offset 2:00 at 13:42:06
Nov 3 15:40:06.025715 OSPF periodic »mit from 172.16.128.253 to 224.0.0.5
(IFL 71 area 1.0.0.0)

Based on the traceoptions output shown in the exhibit, what is the problem with the adjacency?
A. connectivity

B. authentication mismatch

C. MTU mismatch

D. area mismatch

Correct Answer: D
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QUESTION 5

What are the three possible port states when using RSTP? (Choose three.)
A. forwarding

B. learning

C. discarding

D. listening

E. tagging

Correct Answer. ABC
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